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   x         +        =  56

   :         x         +        =  77

   +         -         x        = 126

   x         +         +        = 148

   :         x          -        =

Versuche die Rechenaufgaben zu lösen.
Welche Zahl kommt am Ende raus?

Rechenrätsel mit Symbolen
schwer
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   x         +        =  56

   :         x         +        =  77

   +         -         x        = 126

   x         +         +        = 148

   :         x          -        = 488

Versuche die Rechenaufgaben zu lösen.
Welche Zahl kommt am Ende raus?

Lösung
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Rechenrätsel mit Symbolen
schwer


